

C/o Burman & Stephonsen Street
Deal Party
Port Elizabeth
6000

C/o Burman & Stephonsen Street
Deal Party
Port Elizabeth
6000



041 486 3222

041 486 3555

Wilhelm@lrsa.co.za

Liquor Runner Port Elizabeth

Http://www.lrsa.co.za

GRV for BLUE SKY BRAND COMPANY (PTY) LTD - LRSA NR: 7324 (GRV)

Receiver: Xolela

Checker: Xolela

Warehouse: Cape Town

Sender Ref 1: BSIBT00006542

Receive Date: 2025-01-22

WarehouseRecv: Port Elizabeth

Sender Ref 2: 64464

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
Stock Received					
BS14001U	FIREBALL NO.6 SPICED (1 X 750ML)	L24341		10	60
BS18002U	PRAVDA PLAIN VODKA (1 X 750ML)			20	120
BS37060U	ROYAL FLUSH NOIR	L31034		10	120
BS37101U	ROYAL FLUSH GIN ORIGINAL (1 X 750ML)	L31172		10	120
BS37102U	ROYAL FLUSH LUXE AMBER GIN (1 X 750ML)	L31191		5	60
BS25001U	HONOR VS COGNAC (1 X 750ML)	L92371		10	60
				65.00	540.00
			Total QTY Received	65.00	540.00

Checked By:

Transport Company:

L2 OWN

Receiver:

HZP773FS

Checker:

Banele Somatika

Driver Signature: _____

22/01/2025 01:18:09 PM

C/o Burman & Stephonsen Street
Deal Party
Port Elizabeth
6000

C/o Burman & Stephonsen Street
Deal Party
Port Elizabeth
6000



041 486 3222

041 486 3555

Wilhelm@lrso.co.za

Liquor Runner Port Elizabeth

Http://www.lrsa.co.za

GRV for BLUE SKY BRAND COMPANY (PTY) LTD - LRSA NR: 7324 (GRV)

Receiver: Xolela

Checker: Xolela

Warehouse

Sender Ref 1:

Receive Date: 2025-01-22

WarehouseRecv:

Sender Ref 2:

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
Stock Received					
BS14001	FIREBALL NO.6 SPICED (6 X 750ML)	L24341		60 ✓	360
BS14001	FIREBALL NO.6 SPICED (6 X 750ML)	L24341		60	360
BS18002	PRAVDA PLAIN VODKA (6 X 750ML)			120 ✓	720
BS37060	ROYAL FLUSH NOIR	L31034		120 ✓	1440
BS37101	ROYAL FLUSH GIN ORIGINAL (12 X 750ML)	L31172		120 ✓	1440
BS37102	ROYAL FLUSH LUXE AMBER GIN (12 X 750ML)	L31191		60 ✓	720
BS25001	HONOR VS COGNAC (6 X 750ML)	L92371		60 ✓	360
				600.00	5,400.00
				Total QTY Received	600.00 5,400.00

Checked By: Xolela [Signature]

Transport Company: LR Own

Receiver: BANELE

Checker: H2P 773 FS

Driver Signature: _____

22/01/2025 01:06:50 PM

Warehouse IBT Receive Note

BLUE SKY BRAND COMPANY (PTY) LTD

From: CT LR - CAPE TOWN
 Range Rd & Anfield Rd
 Blackheath
 Cape Town
 7581

Manager: Pieter Le Roux
Telephone: 021 903 8874
Fax:

To: PPE LR - PORT ELIZABETH
 BMI Building
 Cnr Stevenson & Burman Road
 Port Elizabeth
 6059

Warehouses
 Goods In Transit: G_PPE GIT_LR - PORT ELIZABETH
 Variance Goods: VAR Variance Goods Warehouse
 Damaged Goods: D_PPE DAMAGE_LR - PORT ELIZABETH

IBT Number	Date Issued	Date Received	Delivery Note Number
IBT00006542	16/01/2025	22/01/2025	IDEL00006521

Item Code	Item Description	Unit	Qty Issued	Qty Received	Variance Qty	Damaged Qty
14001	Fireball Original	750ml	60.00	60.00	0.00	0.00
18002	Pravda Vodka - Plain 750ml	750ml	120.00	120.00	0.00	0.00
37060	Royal Flush Noir 1 x 750ml	750ml	120.00	120.00	0.00	0.00
37101	Royal Flush Gin	750ml	120.00	120.00	0.00	0.00
37102	Royal Flush Luxe Amber Gin	750ml	60.00	60.00	0.00	0.00
25001	Honor VS Cognac 750ml		60.00	60.00	0.00	0.00
1 PALLET						
			540.00	540.00	0.00	0.00

Received by _____
 Date _____
 Signed _____

C/o Range rd & Anfield rd
Blackheath
Kuilsrivier
Cape Town

Driver



Liquor Runners



(021) 903 3880

Pieter@lr.co.za

Liquor Runners Cape Town

(021) 903 8874

Http://www.lrsa.co.za

**IBT INSTRUCTION / DISPATCH NOTE
CONSIGNEE - LR PORT ELIZABETH IBT**

BSKYCT

TOTAL QUANTITY FOR IBT: 0

PRINCIPAL REFERENCE NUMBER

Number of Brown: 1

BSIBT00006542

IBT SPECIAL INSTRUCTIONS

Transport Company: LR Primary Driver Name: Banele Somatika

Expected Delivery Date: 2025-01-21 Truck Reg Nr: HZP773FS
Transport Reference: 64464 Dispatch Date: 2025-01-17
Dispatch Time: 11:30

Driver Signature:

LR Signature:

No. of Seals	Received by Driver	Seal Number
1		4636025-4636028
2		
3		
4		
5		
6		
7		
8		
9		
10		
11		
12		

LRSA VARIANCE REPORT FOR SINGLE INVOICE

1454988

LR PORT ELIZABETH IBT TO RECEIVE 1 PALLETS

BSIBT00006542

Scanned	St Code	St Desc	PackSize	Unit	Units QTY	Scan QTY	Variance
	BS14001U	FIREBALL NO.6 SPICED (1 X 750ML)	1 x 750ML	EA	60	60	0
	BS25001U	HONOR VS COGNAC (1 X 750ML)	1 X 750ML	EA	60	60	0
	BS18002U	PRAVDA PLAIN VODKA (1 X 750ML)	1 x 750ML	EA	120	120	0
	BS37101U	ROYAL FLUSH GIN ORIGINAL (1 X 750ML)	1 X 750ML	EA	120	120	0
	BS37102U	ROYAL FLUSH LUXE AMBER GIN (1 X 750ML)	1 x 750ML	EA	60	60	0
	BS37060U	ROYAL FLUSH NOIR	1 x 750ML	EA	120	120	0
					540.00	540.00	0.00



Warehouse IBT Delivery Note

BLUE SKY BRAND COMPANY (PTY) LTD

From: CT LR - CAPE TOWN
 Range Rd & Anfield Rd
 Blackheath
 Cape Town
 7581

Manager: Pieter Le Roux
 Telephone: 021 903 8874
 Fax:

To: PPE LR - PORT ELIZABETH
 BMI Building
 Cnr Stevenson & Burman Road
 Port Elizabeth
 6059

IBT Number	Date Issued	In Transit Warehouse	Delivery Note Number
IBT00006542	16/01/2025	G_PPE LR - PORT ELIZABETH	IDEL00006521

Item Code	Item Description	Qty Issued	Units
14001	Fireball Original	60.00	750ml ✓
18002	Pravda Vodka - Plain 750ml	120.00	750ml ✓
37060	Royal Flush Noir 1 x 750ml	120.00	750ml ✓
37101	Royal Flush Gin	120.00	750ml ✓
37102	Royal Flush Luxe Amber Gin	60.00	750ml ✓
25001	Honor VS Cognac 750ml	60.00	✓
1 PALLET			
		540.00	

Received by XOHEWA
 Date 22/01/25
 Signed XOHEWA

